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Assigning things in a table

| LR-Assign |

All questions can be solved in 3 steps 2>

Step-1: Identify number of variables
AT hr FE&AT YgdT Y
Step-2 : Create appropriate table

arfersr & el sramEer e 3G dTTorehl JaTd
Tt 73t Y A =R F gt fpar ST eddr g > Step-3 : Fill datain table
arforer & 3er ¥
2 variables 3 variables 4 variables
Variable 3 Variable 3

Vatiable 2 iabl

e 2

leiab e2

Variable 1

Variable 1

Variable 1

Variable 4

If arrangement or relations are also given

» Fill the table by ignoring the arrangement and relations.

» After filling table, consider arrangement and relations

IfE e ar day WY Ry o €
> TawAT 3R Aeell Y G BReh ATferedT W
> TIfeTeT WRA P 91, cgawRrT 3R Fawl ) R &y

12016 Q-54/55/56 [set-A] LR, Assignment

When three friends A, B and C met, it was found that each of

them wore an outer garment of a different colour. In random

order, the garments are: jacket, sweater and tie; and the

colours are: blue, white and black. Their surnames in random

order are: Ribeiro, Kumar and Singh. Further, we know that :

. neither B nor Ribeiro wore a white sweater

.Cwore a tie

. Singh's garment was not white

. Kumar does not wear a jacket

. Ribeiro does not like to wear the black colour

. Each of the friends wore only one outer garment of only
one colour

U hs WN

ABC . C A

o9 G R A, B 3R ¢, firet, &Y ara am fop S @ vl o
Tep =T T T IHURT grenTes U I ot argfed B A
QIeTTh Sidhe, We 3R €78 §; 3 <7 +iett, Wihg 3R Brer 81
S P (ARH) ATGRBH H F RERY, AR i) Rig &
MY, TE AT & foF

1.9dr B9, TE RERY ¥ Ahe ¥dex ugm a1

2. C T g oY

3. Rig &Y ureme athe 7T o

4. PR SAbe T TgTa

5, RERY Y Sretr 7 gg=T a¥iE T &

6. BX U T3 7 thereT Ueb & 1 oY Tep & ST qremTeh ug=T oft

B

\

Jacket
Sweater

C , Ribeiro

Ribeiro

54 Whatis C's surname?

(a) Ribeiro (b) Kumar (c) Singh (d) Cannot be determined
55 What is the colour of the tie?
(a) Black (b) Blue (c) White (d) Cannot be determined
56 Who wore the sweater ?

(a) A (b) B (c)C (d) Cannot be determined

Kumar

Singh
Kumar
Ribeiro

Singh <= Ribeiro, Kumar, Singh

54 C &1 Hoi-T FATE ?
@R (b)FIR  (c) Riz  (d) FrefRRa 8t e S amar &

55 TS BT RT AT ?

(@)@ (b) AT (c) e (d) FrafRa =&t fpar ST wepar &
56 T fpam Tg-T o ?
(a) A (b)B (©)C  (d) Frafa 7& frar o w@ar &

Separate explanation videos are available in English & Hindi
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https://youtu.be/8srVD1pmMqw
https://youtu.be/o49GccbRkrY
https://youtu.be/o49GccbRkrY
https://youtu.be/8srVD1pmMqw

20180-43-48 [set-A] LR, Assignment

A, B, C and D are students. They are studying
in four different cities, viz., P, Q, R and S (not
necessarily in that order). They are studying in
Science college, Arts college, Commerce college
and Engineering college (not necessarily in that
order), which are situated in four different
States, viz., Gujarat, Rajasthan, Assam and
Kerala (not necessarily in that order). Further, it
is given that—

(i) D is studying in Assam

(i) Arts college is located in city S

which is in Rajasthan

(iii) A is studying in Commerce college

(iv) B is studying in city Q

(v) Science college is located in Kerala

ABCD o, A

A, B, C 3R D3m % 3 =m faftm wi—p, Q, R
N S (rfede: 3 #=0 § 7)) § w R %) 3 WEa
(sifarfa: 56 w0 § 9d) F @ £ S SR B
TR, TSEIH, 389 3R e (sifaEra: @
9§ 76) & R &1 g oft R @ f—

() DImuiye e

(i) 3w Fow wR S R, A TowRyw &

o 2

(iii) A FHH Fierw | g w2

(ivy B Qi 9g a1 ®

(v) OTEE Few ¥ ¥ fBe d

C D B

* Gujarat

Science

Commerce

Engineering

43 A'is studying in

(a) Rajasthan  (b) Gujarat (c)city Q (d) Kerala
44 Science college is located in
(a)cityQ (b)cityS (c)cityR (d)city P

45 Cis studying in
(a) Science college (b) Rajasthan (c) Gujarat (d) city Q
46 Which one of the following statements is correct?

(a) Dis not studying in city S.

(b) A is studying in Science college.

(c) Ais studying in Kerala.

(d) Engineering college is located in Gujarat.

47 Which one of the following statements is correct
regarding Engineering college?

(a) Cis studying there.

(b) B is studying there.

(c) Itis located in Gujarat.

(d) D is studying there.

48 Which one of the following statements is correct?
(a) Engineering college is located in Assam.

(b) City Q is situated in Assam.

(c) Cis studying in Kerala.

(d) B is studying in Gujarat

Rajasthan

< pPQRS

43A TG TR
(@) IRATH  (b) TR F (c) AR QA (d) IeT H

44 TS BiereT Reerd &

(a) TR QT (b) MERSH (c) MRRHA  (d) TERPH
45C UgETE

(a) AEA DA T (b) AR H  (c) ORI H (d) MR QA

46. fFrfaRad BT § I BIF-T U WEr 872
(a) D 9rER S ¥ &l UG RETR

(b) A TS PToroT F U T&T &

(c) A el ¥ Ug TET

(d) SONFRIRAT Pietor Torere F Rrere &

47. SNl Bieror & e &, frreaferRad o & wiF-a1 (@
HAT AET &2

(a) CasT UG @&

(c) T8 oI ¥ frerey &

(b)Baﬁana%
(d) DIET Ug XET

48. fFrfaRad BT § I BIF-T U Wer 872
(a) SSRFRIfaT Bierer aRT & Reerey &

(b) 2TER Q 3T ¥ Reerer &

(c) C AT UG @R

(d) B ORI ¥ UG T&T &

Separate explanation videos are available in English & Hindi

3l 3T &S & 3rerer-srerer difgAY sqcrer §
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2017 Q-69/70/71 [set-A] LR, Assignment

A, B, C, D, E, F and G are Lecturers from
different citics—Hyderabad, Delhi, Shillong,
Kanpur, Chennai, Mumbai and Srinagar (not
necessarily in the same order) who participated
in a conference. Each -one of them is
specialized in a different subject, viz.,
Economics, Commerce, History, Sociology,
Giengraphy, Mathematics and Statistics (not
necessarily in the same order). Further

1. Lecturer from Kanpur is specialized
in Geography
Lecturer D is from Shillong

3. Lecturer Cfrom Delhi is specialized
in Sociology

4, Lecturer B is specialized in neither
History nor Mathematics

5. Lecturer A who is specialized in
Economics does not belong to
Hyderabad .

6. Lecturer F who is specialized in
Commerce belongs to Srinagar

7. Lecturer G who is specialized in
Statistics belongs to Chennai

Economics|Commerce| History
FerEd | arfursa

Sociology |Geography| Maths | Stats
GATSIRMET| el | a1ford [|ifEasht

@@ A, B, C, D, E, F 3R G faftm wms—
tewEme, R, Rremw, sAg, 9=, = ol dw
(3rmavgs ¢ 5 @l wn A B) ¥ &, S w wWe A
it g TR A TS AT S-S
freg—ardme, wifreg, e, woeETE, i,
Titrg i wifesh (smaves 7€ 6 3 ww A d) W
fordg B EF A @

1. FAQ I Fream i #§ gy ¢
2. =T D, Riei® &R
3. FEE C, s R #1 R, gwewE

o 2

4, =gl B, 9 q 3fae™ § 3 @ nfm 4,
fordtem &

5. =i A, & ey # fagew R,
BT w1 A R

6. STAT F, S anvea § fagreg @, A
R

7. AT G, S wifewd # fadeg R, I3
F 2

E Hyderabad
[ERACICY

Delhi
el

D Shillong
Rrerer

Kanpur
HIAR

Chennai

=

Mumbai

s A

Srinagar F
IGEICY

69. Who is specialized in Geography?
(@) B (b) D (c)E
(d) Cannot be determined as data are inadequate

70. To which city does the Lecturer specialized in
Economics belong?

(a) Hyderabad (b) Mumbai

(c) Neither Hyderabad nor Mumbai

{d) Cannot be determined as data are inadequate

71. Who of the following belongs to Hyderabad?
(a)B (b) E (c) Neither B nor E
(d) Cannot be determined as data are inadequate

69. 3Tt ¥ frerwet @l 82
(a)B (b)D (c)E
(o) FrafRa 7 fear ST weaT Fife sriwe sroai &

70. areferer ¥ fyQiwsT careaTelT T eTeR @ 22

(a) TRTETE (b) %

() 7T Y BERTETE 3R 7 & quE

(d) FrafRe & fear ST evar A1fH aripe svafe &

71. FrefeRae & & B &evraTe a1 22
(a)B (b)E (c)TATBRTEE
(d) Fererffer 78t ferarT ST el 4T e sty &

Separate explanation videos are available in English & Hindi

s 3l B F srerer-arerer Aif3AT e §
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2016 Q-34/35/36 [set-A] LR, Assignment

Six boxes A, B, C, D, E and F have been painted with six
different colours viz., violet, indigo, blue, green, yellow
and orange and arranged from left to right (not
necessarily either kept or painted with the colours in the
same order). Each box contains a ball of any one of the
following six games: cricket, hockey, tennis, golf, football
and volleyball (not necessarily in the same order). The
golf ball is in violet box and is not in the box D. The box A
which contains tennis ball is orange in colour and is at
the extreme right. The hockey ball is neither in box D nor
in box E. The box C having cricket ball is painted green.
The hockey ball is neither in the box painted blue nor in
the box painted yellow. The box C is fifth from right and
next to box B. The box B contains volleyball. The box
containing the hockey ball is between the boxes
containing golf ball and volleyball.

F
Cricket Hogkey
{E T g

BEIRIT A, B, C, D, E, F & B8 it Wi - S+, SR,
e, 831, e 3R AR A 77 17 & 3R I IR A SR A 3R
N G T & (3MTaeae & 3 Seit 9 & i & < 1Q 3rerar
[/ T ) | TAF §1T | B Wal - fbde, g, R, Mew,
Tedier 3R arefidier AT et § & PE 0 i 7Y 7 F (maead
TE fF R P H) | Mow ot g ST st F & 8iR g D dreT
¥ 78 & 1 dfery A BT, R 2FRT dfel §, FrART R iR ag 9t
ARBITHEE | P PricTardiea D § 8, TE diT E H
| dfT C T, oA e Y T &, T1 &1 & | BT T I arer
STy T AT il T 07 &, 7 & Giel T | &fe=T C, 18 R |
Ui ¥ W) 2 3R §ie T B & T H 2 | §ieg B H aTeleiel 2 |
BTehY Y i aTeTT ST, Mot Y I aTer 3R aTetiarel dTel gaal
FaTFRI

A E D B
Tennis Golf Football Volleyball
o R

g | AMew | wedd

LY

Viplet
st

Indigo F
THATAT

Blue
e

Green
s C

Yellow

e

Orange
AR

C A DCBFEA

34 Which one of the following boxes contains the golf ball? 34, frreafafad & | B ST 3 Mew it g 82

(@)F (b)E (c)D (d) None of the above

35 Which of the following statements is/are correct?
(a) D is painted yellow

(b) Fis painted indigo

(c) B is painted blue

(d) All of the above

36 The football is in the box of which colour?

(a) Yellow (b) Indigo

(c) Cannot be determined as data are inadequate
(d) Blue

@@F ()E (c)D (d) SHREH A A HIS T&

35 fFrfafad ¥  SI-T1R P 98 87
(a) DA FTATMR

(b) F SIRAT ST A TR
(c)BRATTATTE

(d) STRiwH Wt

36 pedTel forw T & ot 7 27

(a) te (b) TRTAT

(c) 3T ATH B P BT frrerife Tt fpam ST Fawar
(d) e

Separate explanation videos are available in English & Hindi | 37asft 3ilx &Y & 3rerer-arerer AfAY 3qerstr §
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2016 Q-15/16/17/18/19 [set-A] LR, Assignment

There are five persons in a group —P, Q, R, Sand T. The group has one doctor, one lawyer and one artist.
P and S are unmarried students. T is a man married to one of the group members. Q is the brother of P

and is neither doctor nor artist. R is not doctor.

F A A afgAfh & - P, Q,R, S 3R T | T § &b farfdpewras, 1 aehier ik v s 21 P 3R S srferanfea fiemeff &1 7w
qoY ¢ et firaTe S S TP AT A AT & | Q, P BT WIS & 3R a8 7 At fufthewr 2 stk 7 & e | R Fifpcwa 781 21

15 Who is the doctor? Rfehcas AT E ?
(a)T (b)P (cJQ (d)R

16 Who is the artist?  ShollhR Pl g ?
(a)P (b)Q ()R (d)T

17 Who is the spouse of R? R HT U / TeaAl T & ?
(@P (b)T (c)Q (d)S

18 Who is the lawyer?  @ehlel sl &2
(@a)P (b)Q ()R (d)S

19 Who of the following is definitely a man?
AT & @ hleT frered &9 & qev g?
(a)P (b)S (c)Q (d)None of the above

Doctor Lawyer Artist | Student
Rffcas| afia | Faer (Reargdt
P v
Q v
R v
S v
T v

T can’t marry these people: P, S, Q

T3 ST AL X Thl §:P, S, Q

2014 Q-78/79/80 [set-A] LR, Assignment

A, B, C, D, E, F are members of a family.
They are engineer, stenographer, doctor,
draughtsman, lawyer and judge (not in order). A,
the engineer is married to the lady stenographer.
The judge is married to the lawyer. F, the
draughtsman is the son of B and brother of E. C,
the lawyer is the daughter-in-law of D. E is the
unmarried doctor, D is the grandmother of F.
There are two married couples in the family.

A B C,DEFTUH TaR § T2 & | &
i, sngffs, s, gwaie, faftmw ok
=rdte (9 F F) d 1 Sftf A, wfeen
amgfafs & feafes § 1 =mmfw, fafew @
faaifgad 2 | SREAT F,BH YA W E 1 9§ 2 |
faftraeer ¢, D it gray } | g E, sifdaia §
D, F¥ 2l § | oftar # 2 faarfia gl &

Engineer| Steno |Doctor|Draughtsman| Lawyer | Judge A is married to B/D
3 Fmerfafe| st | seEdAa | Raftrawar | Cis married to B/D
A v Cis daughter-in-law of D
v So, Cis married to B (Judge)
B So, A is married to D (Steno)
c Y A% T W 7 ¥
D v CHT A BT EE ¥
E v C, D Eﬁf %’ N
sgfoIy, Cehr ATEY B (FaaAelen) & &3 §
F Y sufaT, AR omdy D (R F g5 ¥
78 What is the profession of B ? 78 B &1 TG T 872
(a) Judge (b) Lawyer (a) TTTENST  (b) frRrawhr
(c) Draughtsman (d) Cannot be determined (c) :fmﬁq (d) Freaffa 781 fopar ST wepar

79 Which of the following is/are a couple/couples ?
(a) AD only (b) BC only
(c) Both AD and BC  (d) Both AC and BD

80 What is the profession of D ?
(a) Judge (b) Stenographer
(c) Doctor (d) Cannot be determined

79 Frafefaa ¥ A oI rufy 2R
(a) PaeT AD (b) PaeT BC
(c) AD 3R BC @I (d) AC 3R BD 31

80 D T TG T 872
(a) =amTeleT  (b) SfeTiue
(c) SR (d) Fererffer &1 fpar o Fwar

Separate explanation videos are available in English & Hindi

s 3l B F srerer-arerer Aif3AT e §
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1201329 [set-A] LR, Assignment

A, B, C, D and E belong to five different| A, B, C, D 3R E uig fafim 7RI P, Q, R, S
cities P, Q, R, S and T (not necessarily in| 3k Td & (s st dn d 7€) | =00 &
thgf;ﬂ?rdert). Eaclﬁ 0::; of 'ti:hfam f:ometshfrom TP UE IR g Ry mar & -
a different city. Further it is given that : 1. BaRC TRQYTEE | Pl Q| R S T
1. B and C do not belong to Q. . SRRE g v
2. B and E do not belong to P and R. 2 B B, ARP B ; ! . A
3. AandCdonot belong to R, S and T. 3. AMRC FRR,SIHRTHEE | B v
4. D and E do not belong to Q and T. 4 DIRETRQIRTITE |
Which one of the following statements is| frafifiag & & P s v 78 2 7 c|v
not correct ? D v
(a) C belongs to P () C,7FRP¥ &
(b) D belongs to R (b) D,FRR¥ & E v
(c) A belongs to Q () ATRQAZ
(d) B belongs to S (d B,TRSHE
20130:20/21/22 [set-A] LR, Assignment
Out of four friends A, B, C and D, gr fimi A, B, C 3k DA F,
- Aand B play football and cricket, A 3R B geaia iR fisde @ €
B and C play cricket and hockey, B 3R C fboe 3R S Werd &,
A and D play basketball and football, A 3R D amasedia i Gedle e &,
C and D play hockey and basketball. C 3R D g 3iv arpedier @od € | A B c D
20. Who does not play hockey ? o 39 T8 Werar ?
@ D Football v |l v v
a P (%)
o (a) D W
(by C
Cricket
(e) B (¢) B e v | v | V
d A d) A Hock
e - - . ockey
21. Who plays football, basketball and Peard, arspeate 3l FH Sear & 2 o v v v
hockey ? m m
(a) D
(a) D Basketball
b) C (b) © | ¥ V1Y
() B (c) B
d) A (d) A
22. Which game do B, C and D play ? B, C 3k D #f-a1 @ @od & ?
(a) Basketball -
a asketba (a)
(b) Hockey
(¢) Cricket (b) &
(d) Football c) e
(d) wead

Separate explanation videos are available in English & Hindi | 3r3rsfY 3ilv &Y & 3rerer-arerer df2aY 3ucrewr §
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2014.Q-60 [set-A] LR, Assignment

In a group of six women there are four
dancers, four vocal musicians, one actress and
three violinists. Girija and Vanaja are among
the violinists while Jalaja and Shailaja do not
know how to play on the violin, Shailaja and
Tanuja are among the dancers. Jalaja,
Vanaja, Shailaja and Tanuja are all vocal
musicians and two of them are also violinists.
If Pooja is an actress, who among the
following is certainly a dancer and a
violinist ?

o forl A deeft § =n dfpaf, e MR, | | () Jalaja ST
o ARl s A arafer it § 1 fifen || ) Pooja T
#R e arfe aifded § wf% Seer o[ | () Shailaja dern
Yoren aafem a9mn @ Swdt | @ oft|| (@) Tanuja @gw
g Fdfea F ¥ § | S, aeen, e ok
o ot mReed ¥ ok I @ @ amfew
afewd R § 1 AR g afeht §, @
frfeflas § & 3 it =9 @ w6 o
o e e o 2

4 Dancer 4 Musician 1 Actress 3 Violin
4 FafRar

Girija

Shailaja
e

4 afR¥y=F1 1 rfa=ash

Tanuja

2017.0:29 [set-A] LR, Assignment

In a group of six women, there are
four tennis players, four postgraduates
in Sociology, one postgraduate in
Commerce and three bank employees.
Vimala and Kamla are the bank
employees while Amala and Komala are
unemployed. Komala and Nirmala are
among the tennis players. Amala,
Kamla, Komala and Nirmala are
postgraduates in Sociology of whom two
are bank employees. If Shyamala is a
postgraduate in Commerce, who among
the following is both a tennis player and
a bank employee?

@: fodt % b wg § 9n 2 6 faend &, | | @ Amala
IR RIS § EEeR €, T aey 3§
FEH ¢ 3R @9 &% i §) fwen ofg | | ) Komala
A 96 HHAM § TEih oHen iR Hwen
SR | wiwen iR fofen 20w # faenfet
i A & smwen, FHen, dwen AR | | (g shyamala
AT § Eee § e Qo et
21 afR wymen 9y § Ead 2, 9 9 @
#W 2 H faendl sl &= wierd 26t 7

(c) Nirmala

4 Tennis | 4 Sociology | 1 Commerce 3-Ba‘nk

Komala
PrHAT

Nirmala

Separate explanation videos are available in English & Hindi | 313 3t REY & 3rerer-arerer AfFaY 3ucreer §
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2017.Q:72 [set-A] LR, Assignment

In a school, there are five teachers A, B,

C, D and E. A and B teach Hindi and E & 919 M 4, B, C, DM E ald
English. C and B teach English ana ¢! A 3 Bl aun 3t wgra &1 c ohv B ) B
Geography. D and A teach Mathematics I 3 ‘Eﬂ?’l ‘mﬂ 21 D 3 A 7fm 3R
and Hindi. E and B teach History and {3 qgrd 21 E 3t B‘:ﬁ'mm 3R 9 v £ {c) D
French. Who teaches maximum number : g
sfers fawa qgran 8¢
of subjects? ww #H ¥ {d E
Hindi English | Geography | Maths | History | French
et | 3rash sTaner aforg | sfagmr | %
A v v v
B v v v v v
c v v
D v v
E v v
2016Q:07 [set-A] LR, Assignment

A ate grapes and pineapple; B ate grapes and oranges; C
ate oranges, pineapple and apple; D ate grapes, apple and
pineapple. After taking fruits, B and C fell sick. In the light
of the above facts, it can be said that the cause of sickness
was:

A 7 3R 3iR M @RI B 7 37R 3R IRFMT @t8; ¢ ¥
ARART, FFFN 3R T @G, D 7 IR, AT iR R
@MY Bl T & a15, B 3R C TR 98 Q1 IRyh i &
srepTeT H, ST BT PIRT ARy T I WehelT & 2

(a) Apple (b) Pineapple (a) ﬁ’q’ () W
(c) Grapes (d) Oranges () IR (d) A
Grapes | Pineapple | Orange | Apple

A v v

B v v

c v v v

D v v v
_ LR, Assignment

Two men, Anil and David, and two women,
Shabnam and Rekha are in a sales group.
Only two speak Tamil. The other two speak
Marathi. Only one man and one woman can
drive a car. Shabnam speaks Marathi. Anil
speaks Tamil. Both Rekha and David can
drive.

Which of the following statements is true ?

(a) Both the Tamil speakers can drive a

car.

(b) Both the Marathi speakers can drive a
car.
(¢)  Both of those who can drive a car speak

Marathi.

(d)  One of those who can drive a car speaks

Tamil.

& e, st sh s, s 3 Ak, T
3R Y@, w fea wE A ¥ Few @
aftesmi 3 1 o & Todtmh # | o @ A
T Jo N U HEE H Tl Fohd ¢ | WEH
w1 e aferad 2 )t ok 2
2T SR = T § |

fraforfiga 1 @ -0 FT T 2 ?

(a) 2 afferd R = o § |

(b) EF1 FUSundt R = Hhd § |
(¢ ZH! FR S 9, JOdee ¥ |

() N T Il 0 ¥ O, aftenmt R )

Speak | Car
HTHT Cacy
Anil Tamil X
David
- Yes
Shabnam .
AT Marathi| X
Rekha
YT Yes

Separate explanation videos are available in English & Hindi

S IR B A 3rerer-areer DAY 3ucrer §
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2SR [S6EA] L, Assignment

Consider the following statements ;

1. A man had a wife, two sons and two
daughters in his family.

2. The daughters were invited to a feast
and the male members of the family
went out to take part in a picnic.

3. The man’s father did not return from
his work.

Which of the following statements is true ?
{a}  Only the man’s wife was left at home.

(b) It is likely that the man's wife was left
at home.

(¢} None was left at home.

{d) More than one person was left at home.

Frfeifias et w feam Hifi
1.

2. gbml =l Tk W w amia R T i
uftan & ey wew fiefis w am =
|

3. 38 et w1 fUar 3gd w9 9w @
oter |

R i s T A a3 7

(a) Had IW FEH H T B W R/ T W
(b) T8 B & B 39 et B ueh € W

(e)
(d) ST U ¥ i =afE ® T |

T 31l & ufer § wh ueh, 41 gF Al
g gt o |

ot |

wWE T |
T R/ i ol 78w T |

Man ———p

Wife
Two sons ——————p

Two daughters
Man’s father ——»

IEH —m—
Yoail

LUK —
ar afear

IeH F Aar ——

2014566 [5EEEA] LR, Assignment

Examine the following statements : Prferfaa st 1 whe i Monday Music
1.  George attends Music classes on || 1. TS GWER = wWia 6t Fenet § ufem Tuesday Sports
Monday. wqard | Wednesday Maths
2. He attends Mathematics classes on|| g, 9§ qHAN ] nftd ;ﬁ Fyrall i ufeda Thursday History
Wednesday. "@HT 2
3 His Literat 1 t Friday
. is Literature classes are not on T TR *
Friday. 8. et | # wa gFa w A Saturday Literature
4. He attends History classes on the day . Sunday
following the day of his Mathematics || 4 % i i wash F HS& ﬁ? Hoem &
classes. wamall  Sufg Sar 2 1. .
5. On Tuesday, he attends his’ Sports|| 5. TTEER W, T8 JGH WA-Fg H FEA AHAR wafa
classes. - o e gt ® | HAITAR A Fg
o
’ R e o o ¥ ow & o B el Ao | e -
If he attends just one subject in a dz_iy and his B 3it Faw ® I9hH @ =l -@, & 2= >
Sunday is free, then he is also free on form 2 =t ot swh @t @t ¢ W gﬁm
(a) Monday (a) THaER QWR-
(b) Thursday (b) TEER nfaar aifged
(c) Saturday’ (0 WFER Tﬁm
(d) Friday (d) THAR

Separate explanation videos are available in English & Hindi
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2013.Q-30 [set-A] LR, Assignment

Seven men, A, B, C, D, E, F and G are| | A B, C, D, E, F 3iR G 91d =ftp & 5l 38 9| | (a) Blue em
standing in a queue in that order. Each ¥ 4Rp 3 Eg Fim imadaf o (b) Violet i
one is ‘wearing a cap of a different colour ; !
like violet, indigo, blue, green, yellow, S A, S Bt T, e, &9, e, AR sk (¢) Red QG
orange and red. D is able to see in front of | | @1 | D F A ' 3R Aol @Y 3% urer &, (d) Orange TR
him green and blue, but not violet. E can| | qx §7+} &' :{é’{ | E &7 stk Ot @ &5 e
zie vjlolet ;m()il ye:low, bl:}t] no:hred. G can T RATB A G TR B @gﬁ T i
sée caps ol all colours other an orange. w e
If E is wearing an indigo coloured cap, @t el 2 e € | AR E 7 5" < #t erdr
then the colour of the cap worn by F is Ues &, A F gRT 98 §§ oY & T T @ P
dorelr ST IS ARl
Violet Indigo RED Orange
A B C D E F G
12013 Q-15/16/17 [set-A] LR, Assignment
A tennis coach is trying to put BIg g @ 3 3 ae i & fore
together a team .of four players for aR Raafzal & ve $W 358 &= aEar @ |
the forthcoming tournament. For this = o Raerd) 3o & T A, B 3R
7 players are available : males A, B and C; C: 3R ARe W X v 3k Z | o Reaidt
and females W, X, Y and Z. All players 63; - g’ 31’\? B - =
have equal capability and at least 2 males v N & e 3 @
will be there in the team. For a team of " al || R h
four, all players must be able to play with Geigdl B THGER W G 35 g @
each other. But, B cannot play with W, C Wawas ¢ | AfdT B, W & 11 81 @t |,
cannot play with Z and W cannot play C, Z & |y & @a aear ik W, Y & w1
with Y. TE A T |
B-W Cc-zZ W-Y
151f Y is selected and B is rejected, the team will 15 I Y DT AT ST 3R B T AT ST, AT ST
consist of which one of the following groups? ﬁn:n%ﬂ@aw@ Y o Uep I ety ri?
(a) A, C,WandY (b) A, C, XandY (a)A, C’WSﬁqY (b)A, C,XsﬂqY
(©)AC,YandZ (d) A W, Y and Z OACYIRZ (AW YRz
16 If B is selected and Y is rejected, the team will 16 I B JATIY 3R Y 7 AT 1Y, AT
consist of which one of the following groups? ﬁmﬁmw@ Y ot Uep I freteny =i
(a) A, B,CandW (b)A, B,CandZ (a)A, B,CSﬁ'\’W (b)A, B,C?rﬁ'\’Z
(c) A, B, Cand X (d)A, W, Yand Z (©)A, B, C 3R X (AW, Y 3Rz
17 If all the three males are selected, then how 17 I Tt F qRout T g7 foram ST, AT AR
many combinations of four member teams are Je=T Hf T P fhaw G 999 87
possible ? (@1 (2 ()3 (d)4
(@1 2 (3 (d)4
ABC_ ABCX
o ABCY
X
Y
2

Separate explanation videos are available in English & Hindi
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2014 Q-21 [set-A] LR, Assignment

Six books are labelled A, B, C, D, E and F and
are placed side by side. Books B, C, E and F
have green covers while others have yellow
covers. Books A, B and D are new while the
rest are old volumes. Books A, B and C are
law reports while the rest are medical
extracts. Which two books are old medical
extracts and have green covers ?

% T #l A, B,C,D,EFR F & 360 | |(a) BandC
wHITE AT @RI T 1 B.CE||) EandF
3R F gt & R e § Jafs o gt
Fammd &1 A B DTS T E
s A8 g0 g § | A, B ol oy || @ CendF
fafy R & e 3w g amgfdad & sgm
§ 1 #Rah D, gl smfdem % sgn AR
S aeft g § ?

(¢ CandE

A —vyellow, New, Law
B —green, New, Law
C—green, OIld, Law
D — yellow, New, Medical
E—green, Old, Medical
F—green, Old, Medical

2014 Q-59 [set-A] LR, Assignment

A question paper must have a question on one
of the eight poets : A, B,C, D, E, F, G or H.
The first four belong to the medieval period
while the rest are considered modern poets.
Generally, modern poets figure in the
question paper in alternate years. Generally
those who like H like G also; and those who
like F like E also. The paper-setter does not
like to ask about F as he has written a book
on F, but he likes F. Last year, the paper
contained a question on A. On the basis of the

information given, this year’s paper is most

likely to contain a question on |

el e oG el § 4w, A,B,C,D,| @ C
EFGAHRIAFENITEFRNF| )y E
Hied § e IR FY wer ga % e 9w
MYF &1 & AW T § | WG], Thiat
ast § gy A sngfw SR mam P | @ H
£ | TR W H W W i 23 G & o
TR FIE MAFH W FAEIER
ff g @ € | fEs F & R ¥ ww g
T8 wa wiH I F % SR i qers R 3,
g 78 F ) w6 =@ 2 | e @Y, sy
FAF A TH A O | § W g F anun
w, 7 7t fre FRLH At TE B ar R
I aTE 8 2

(c)

A B C D E F G H

Medieval Modern

Alternate years

HY G
FVE

Question will not come on F
Question can come on E
Question can come on modern poets

A B C D E F G H
qEF T myfas Hrer
THIaT av

Hv G
FVE

U9 FOX sTar 3TUam
9T E I 3T Hehell & ‘
9eeT JMTfereh hidal 9T 31T Hohl &

Practice these questions yourself after gap of 1 week, See official ansa\:gcrr%y from here

1 JHTE & SHIRIST B 1S 37 T DT AR TR | TP IR ¢
https://allinclusiveias.files.wordpress.com/2024/02/csat-official-answer-key-till-2022.pdf
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